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Kamala College, Kolhapur
(Autonomous)

B.A. (Part-I) (Semester-I)
Examination November, 2023.
NEP - 2020 Level - 4.5
DSC - MJ - 1: Indian Economy I
Subject Code: 101

Day and Date: Wednesday 01/11/2023 Total Marks: 80
Time: 08.00 a.m. to 11.00 a.m.

Instructions:
1. All questions are compulsory.
2. Figures to right indicate full marks.
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Question 1) Fill in the blanks. ( . Marks 10
1) ...........change has made great and important progr]éss n the*ﬁéld of Indian
science and technology. | o L

a) An iﬁdustrial b) An agriculture
¢) Trade d) Structural ‘
2) Capabilities which are inherent in workers and which are not transferable are
known as...... »
a) Public bhuman resource b) Individual human resource
c) Personal ability | ~d) None of th‘ese v
) s an importaht factor in the production and consumption process
a) Gas  b) Water c)Land  d) Capital »
4} Latent unerﬁployment is found.in .. sector.

a) Industry  b) Agriculture c¢) Trade d) All kéf the above

5) Reasons for economic disparity in India are... .
a) Centralization of economic power  b) Zamindari system

C) Scale tends to favor large industrial organizations D) All of the above

Question 2) Long Answer Questions (Any Two) o . Marks 40

1) Explain social and economic inequality and expléin the causes and solutions
of economic inequality. »

2) Explain the structural changes in Indian economy;»‘and state the problems of

structural change.

3) Explain the Indian population profile and state population control measures.




Question 3) Write Short notes (any three) Marks 30
1) Black money .

2) Inclusive growth

3) Human Development Index
4) Population Policy 2000 ‘ P - |

5) Human Resource
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